
202 その 2
(1)V7sin π θ ttcos%θ =2sin(πθ+1‐

)よ
り

πθttτ >=よ り Sinlθ 十

=)=0を

満たすθで/1ヽ さいものから順に数えて力番目

のθをθヵとおくから

πθ力+τ =力π

θ″=券
(カ

ー:)鮨 =1,2,3,……μ)    ……。(答 )
② %c∝与=%c∝鰺―窃)=%dn窃
α=π万 とおくと %=π万, π

→∞のときα→+0

嵐%c∝争=鳳務dnα

=鳳暢・書許)
=雨                  

・……… (答 )

③÷自C∝キ=÷自C∝ (券π一可競石)
=募AICOSttπ

C∝
可,「
十dnttπ dn可

競石 )

=C∝互競石。÷自C∝券π tt dn.湯石・募かnttπ
したがって

1電÷ (COS÷
+COS÷ 十 … …十 CO♂

年 )

=趣 C°SI競
石〔)自
COSttπ

)十趣
dnI傷
石〔)を

盤nttπ
)

=1×∫iCOSI}″グ″‐+0×∫iSinl}″ J″

=[::Sinl)″
]|==:争                                      

…・・……。
(′答)


